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a. Yes, the crew will need sun block. 10.101-2043=8058, 8058>5

b. Answers will vary. Sample answer: Compare the numbers and subiract the smaller from the larger
Rumber. Be sure to line up the decimal poins.
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4. Decimal numbers: Answers may vary.
Example: 0.372, 0.802, 0.629

b. Ordered decimals: 0.372, 0.629, and 0,802,

. Ordering Process:
Possible answer: Begin by making each decimal have the same number of decimal places. Add zeros o
the right as needed. Compare the firs digit on the lef. The greater digit indicates the greater decimal. If
the digts are the same, compare the next four digits t the right. Continue untilalldigits are not the
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n

. Ways pizza can be everly divided (Answers may vary):

SELENA ‘cARMEN

.1 the pizza evenly divided in all ways: Yes.

Possible explanation: L, 2, 2. and 2 are equivalent fractions.

Ty

d.Size of cach slce (Answers may vary):
Desmond: 16 inches by 12 inches
Selena: § inches by 12 inches.
Pedros 8 inches by § inches.
Carmen: 4 inches by 12 inches

Stadent Gives Correct Amower
"Nl answerscomet

Majoriy of answers corct

et anewer or o e

Stadent Uses Appropriate Solution Sirategy
Shows sps et solve problem
- L or o work shown
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. New code sequence: 814, 14.161,22.504, 11.72,
Possible explanation: Subtract the least number from the greatest number. The difference is 13.364,
‘which s greater than 10. Because the difference is greater than 10, each number is increased by 5.1
b. Will mission be aborted: No, because the difference is greater than 10.

. Map point: 56.525

d. About the map point number: The number i the same as the sum of the decimals in the deciphered
code.

. Did message get intercepted: Yes, because the numbers are the same.

Student Gives Correct Anwer
S Al snswers comect

© Majority of answers corrct
- incoreet answer o no amver

E33
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‘2. Amount saved for tuition during May: $52; $9+521+35+517

b. Amount saved for spending money during May: S165; $020+5052+$075+5018

. Answers will vary.

Student Gives Correct Answer

" Cormect answer.

©_ Incorset mswer o n0 aswer

Student Uses Appropriate Solution Straiezy

= Shows steps used 10 solve problem

Ll or no work shown

Student Communicates Undersianding

" Organized explanation of how snswer was derived | 2
‘Shows only partial understanding i
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ab.

House A House B
7x8
ax14
2x28
7x7 1x56
1x49
House C House D
/" ex6
4x6
3x12
2x18 ax5
1x36 2x10
1x20

<. Definition of factor:
Possible answer: A factor s a number that divides another number evenly.

. Pattern: Possible answer: Usually a larger number has more factors. Also, even numbers also can have
‘more factors. There are exceptions to these statemens.
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. Decimals ordered from least o greatest: 0.0345, 0.0435, 04035, 0.5043, 3.0045

b. Decimals in place value table:

ones TENS | HUNDREDTIES | THOUSANDTHS | TEN THOUSANDTES.
3 0 0 T H
[} 0 £l i 3
] 5 0 i 3
(] q 0 3 5
[ [ Q 3 5

. How to use place value table to order decimals:
Possible answer:

First, look down the ones column. Order the decimals by the digit in the ones column.

Ist 20d 3rd 4th Sth
30 0 4

0
0
0
0

co e
weoo

Now, order the decimals by the digit in the tenths column. Repeat this process for each column.
d. Decimals writen in words:

13,0045 — three and forty-five ten thousandths
0.0345 — three hundred forty-five ten thousandths.
0.5043 — five thousand forty-three ten thousandths
0.4035 - four thousand thirty-five ten thousandths.
0.0435 — four hundred thirty-five ten thousandths
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‘a-b. Answers will vary.
. Relationship between the fractions and the distance: The two fractions are symmetric about the value.

it i e, s s s e dstres - vy o s

v, oo sy . v o o |

Possibe able of values:
Starting [ - T roren " T
e | Fracion#1_ Distance from & | Fracton 2. Distance from £
B T 3 T

3 3
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e 1= |-k

. Relationship between distance and size of k
Possible answer: The greater the starting value of k,the closer the fractions will be to

Student Gives Correct Anwer
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m

. The pattern i the multiples of two. Yes, the patter continues. The next three fractions would be
‘which have differences of 12, 14 and 16, These continue as multiples of two.

Gifferences: 3,6, 9,12, 15 _multples of three.
12345
50150
diffrences: 4,8, 12, 16,20 _multplesof four.
1t seems the differences are alvays multiples of the number one less than the iital denominator.

e Fractions: .2 3 4 3 gifferences: k—1, 262, 33, 4k—4, k-5

©_ Incorset mswer o no aser
Student Uses Appropriate Solution Straiegy
= Shows steps used 10 solve problem

- Lt or no work shown

Student Communicates Undersianding

™ Organized cxplanarion of howanswer was desived | 2
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2. Amount of each type of candy purchased: 27 @ $007 and 20 @ $009 or 24 @$0.07 and 23 @
50.09.

b Explanation of answer:

Possible answer: Multiply 0.09 by 20 which equals 1.80. Then subiract 1.80 from 3.75 which equals

1.95. Divide 1.95 by 0.07. The result is 27 with  remainder. Now multiply 27 by 0.07 to get 1.89. Add
1,80 and 1.89 which equals 3.69.

. How much change is lef: $0.06
Possible explanation: Sublract 3.69 from 3.75 to find the change.

‘d. Amount of each type of candy to equal $3.75: 24 of the seven-cent candies and 23 of the nine-cent
‘candies. Answers will vary; probably used guess and check.

. Amount of candies so prices are equal: 27 seven-cent candies and 21 nine-cent candies.
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. The decimal 3131 is larger than 31.27.

b. Answers may vary. Sample answer: Compare cach place value from left o right

. The line drawn closest o .4 mm is a dot. 31 and 27 ae very close i siz.

d. Finding a frame measured in centimeters may be diffcul,as frames in the U.S

inches.

e. Answers will vary to specific area.

®EE B

o
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Combinations for 25¢ : 13

Possible combinations:

Combimation
Number

ol penmics
# of nickels
# of dimes
# of quarters

s ooy

SIS
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a. Answers will vary. Possible answer:

b. Answers wil vry. Possible answer:
Combined Menu:
chilicheese fres $1.25

nachos $1.00

3 hamburgers $3.75

3 large sodas $375

chips $0.75

3 cookies $1.50

Total: $1200

Stadent Gives Correct Rmewer.

“Total Posible Points

<Al e comct. 2
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Wave | Seconds
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3 63
q 85
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b. Patten seen in seconds:

Possible answer: The length of time between each crashing wave is getting greater. If you look at the
seconds, cach number of seconds is 2.2 seconds greaer than the previous number of seconds.

. Sequence of decimals: Answers will vary.

Possible example: 24, 55, 86, 117, 148,179,

‘The first number in the sequence is 2.4, Each

Rumber in the sequence is the sum of the previous number and 3.1

Student Gives Correct Anwer
< Allsnswers comect

© Majoty of amswers corrct
- incoreet nswer o no amsver
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Student Communicates Understanding
G ganized exlansion ofhow answer was desved
- Shows only partl understanding.

- Inapproprae response.
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‘2. Amount saved in four weeks: $37.49

b. Amount saved in February, if doubled: $74.95;
‘Operation used: multiplication.

. Amount saved in March, i ripled: $112.47
d. Amount in April if February is doubled: $149.96
. Comparison between March and April:

Greater month: April

How much greater: $37.49

£ Word statement describing comparison:
Possible answer: In April Larry saved $37.49 more than he did in March.

& About difference:
Possible answer: The additional amount saved in Aprl, $37.49, is the amount Lary saved i January.
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Possible explanation: Start by converting al factions into decimals. Then write the decimals in increasing
order:

o o gt ke 0

o Winng it s 3, 2 o o g

H
I
ops
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‘Shows seps st slve prolem 1p
- Ll or o work shown ops
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. Money he had at the start: $100

b. Possible strategies: work backwards, guess and check, or make a list

c-d. Answers will vary.

Student Gives Correct Amswer
“All answers corrct

H
Maory of answersconect in
- Incomet answeror 0 amsver oms
Stwdent Uses Appropriae Saluion Siratezy
=" Shows scp s to ol proiem 1p
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a Prize choice:

Possible explanation: The only prize combinations that I can afford to buy are either a note pad, a pencil,
‘and an eraser or a 3-color pen and a pencil. Both prize combinations cost 28 cents.

Total cost of prizes: 02824 =$672

b Change due back to the teacher: 28 cents.
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Htem Price | Rounded Amount | Running Total
243 5250 52350
$05§ $100 $350
181 $260 $350
s167 $150 $700
$234 5250 930
$403 $400 $1350
5917 $900 $2350
8046, 3030 $2300
5624 $600 529.00

b. Estimated total: $29.00

. Actual total: $29.02

. Conclusions:

Possible answer: When estimating, it looks like the buyer will have enough money, but when the numbers

are added the buyer s two cents short.

Student Gives Correct Anwer
“All answers correct

Majonty o answers corrct
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Student Communicates Understanding
G ganized exlansion ofhow answer was desved
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a Mistake in calculation:
Possible answer: The crew member forgot to line up the decimal poins.

b. If calculation is correct:
Possible answer: The crew could estimate the answer by adding the whole number parts, and then
‘compare the estimated answer to the original calculation.

. I the atmosphere safe: Yes; 2.043+10.101+7.0=19244, and 19.244 <25,

d. Answers will vary.

Student Gives Correct Amwer
" Cormect answer.
incorset answer or 5o nser
Student Uses Appropriate Saltion Straiegy
‘Shows st used t0 5ol problem
Litl o no work shown
Student Communicates Understanding
‘Organized explanation of how snswe ws derived
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